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Step 3 : Outlier Rejection Step 3 : TPC vs. VPD z Vertex using <East> & <West>

— it2All — it2avg
+, Entries 9444784 3, Entries 30104
Mean 0.4537 Mean 0.2634
5 RMS 6.829 RMS 2.285
10 3
10
104
2
10° 10
102
10
10
1 I 1 1 1 1 1 1 1 1 I 1 1 1 1 1 I J 1 1
-200 -100 0 100 200 =20 0 20
ZTPC B ZVPD ZTPC - ZVPD [Cm]
Step 3 : TPC vs. VPD z Vertex Step 3 : TPC vs. VPD z Vertex using <East> & <West>
i it2zTPCzVPD IitZZTPCzVPDAvg
g 100 : . ‘ R . |entries 9444784 g 100: Entries 30104
N L ‘ : ean x ¢ —_ [ ean x
M 1.641 - 80 - M 1.246
Mean y 1.24 % R Meany 0.9385
RMSx  20.06 pC N 60- FIrRMSx  20.34
RMSy  20.38 E RMSy  20.39
o 30 40
: s —25
25( 20F
oF Ilm
20( [
=20 - 15
15(C C
-40
10( [ i
-60[ i
50( -80 :_
_100 L ! |!“| ' B A 0 _100-| PR I N N N M I T T N A 0
-100 -50 0 50 100 -100 -50 0 50 100

Z1pPC Z1pc [cm]



[#]

[#]

10%

102

10

0 50 100 150 200 250 300 350

Step 3 : # of Accepted Detectors

— West
— East

]

I

10 12 14 16 18
# of Detectors

ol
N
IS
(o))
oo

Step 3 : # of Valid Pairs

# of Pairs



Step 4 : Outlier Rejection
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